

GOVERNMENT COLLEGE OF ENGINEERING, KARAD. Vidyanagar, Karad 415 124. Tal: Karad, Dist: Satara, Maharashtra, India.

Phone No.: (02164) 274066, 271711, 272414, 272415) Fax No.: (02164)

271713 Email: gcek brns@yahoo.co.in

No. CEK/QUOT/Renovation of Principal Cabin Toilet & Ladies staff Toilet/2019-20/2-66 Date: - 2 3 AUG 2019

To,

Sub: -: Renovation of Principal Cabin Toilet & Ladies Staff Toilet at GCE, Karad Dear Sir,

With reference to the above, I request you to please quote your most comparative rates for the work as detailed overleaf/enclosed so as to reach the office on or before 31/08/2019. The prices of the work should be quoted F.O.R. at G.C.E., KARAD and exclusive of all taxes. The delivery period should be stated clearly and adhered to 'AF' or 'D' forms will be supplied where necessary. The R.R. through Bank or V.P. will not be accepted if order is placed. The specification of the material should be mentioned in full such as brand, make and company etc. I do not bind myself to accept/reject the offer, and its detailed leaflet must be attached. Your quotation should be valid at least for 30 days from the date of opening. The quotations should be sent in a sealed envelope. The envelope should please be superscripted with words 'QUOTATION DUE ON - Principal, Govt. College of Engg. Karad'

With this office reference no. & date of opening should also be mentioned on the sealed envelope. If the materials are not supplied according to the specification, it will be returned to you at your own cost. If ordered, you will have to submit three copies of the bill, which will be passed after receipt of material in good condition. Please note that if there is any overwriting in the quotation, the said item will not be taken in to consideration unless is initialed.

The quotations should be received on or before: - 31/08/2019 on or before 4-00 pm.

The quotation received will be opened on: - 31/08/2019, at 5-00 pm.

'QUOTATION - Principal, Govt. College of Engg. Karad'

RECAPITULATION SHEET

Name of Work: - Renovation of Principal Cabin Toilet & Ladies Staff Toilet at GCE, Karad

Sr. No.	Description	A	mount
	Total Civil Work	Rs.	2,74,584.00
	Add GST 12%	Rs.	32,950.08
	Total with GST	Rs.	3,07,534.08
	SAY TOTAL	Rs.	3,07,534.00

ABSTRACT (As per SSR 2018-19)

	NAME OF V	WORK - Renovation of Principal Cabin Toilet &				Amount
Sr. No.	Item Reference	Item Description	Qty	Unit	Rate in Rupees	Amount
1	46.19 Pg. No. 371	Removing cement tiles, or marble or polished shahabad floor or dado without bed concrete including stacking the materials as directed with all leads, lifts etc. complete	79.49	Sqm	32.00	2543.68
2	32.33 Pg. No. 264	Removing the existing cement plaster of any thickness without causing dust nuisance and stacking the debris upto a distance of 50 metres or spreading in the compound and cleaning the site etc. complete.	76.82	Sqm	37.00	2842.34
3	46.15 Pg. No. 371	Removing doors and windows with frames and stacking the materials as directed with all leads, lifts etc. complete.	1.00	No	111.00	111.00
4	31.05 Pg. No. 256	Providing water proof bedding for flooring of Bath and WC 25 mm thick in C.M. 1:3 including using approved water proofing compound in specified proportion as per manufacturers specifications for per bag of cement including leveling, curing and covering 10 years guarantee on court fee stamp paper of Rs.500/- including ponding test etc. complete.	21.80	Sqm	374.00	8153.20

Sr. No.	Item Reference	Item Description	Qty	Unit	Rate in Rupees	Amount
5	31.06 Pg. No. 256	Providing waterproof plaster in W.C. and bath 12 mm thick for dado in cement mortar 1:3 with neat finishing, floating using waterproofing compound at the rate of 1 kg. per bag of cement of approved make and manufacturer and curing etc. complete. (Excluding Tiles) (As directed by Engineer in Charge)	55.02	Sqm	279.00	15350.58
6	32.03 Pg. No. 260	Providing internal cement plaster 12mm thick in single coat in cement mortar 1:5 without neeru finish to concrete or brick surfaces, in all positions including scaffolding and curing etc. complete.	15.60	Sqm	205.00	3198.00
7	33.67 Pg. No. 275	Providing and laying Antiskid Ceramic tiles of approved quality of size 30 cm x 30 cm and confirming to IS 15622-2006 (Group-B IIA) for antiskid flooring in required position laid on a bed of 1:4 cement mortar including cement float, filling joint with cement slurry cleaning curing etc. complete.	21.80	Sqm	991.00	21603.80
8	33.26Pg. No. 269	Providing and laying ceramic tiles having size 30 cm. x 45 cm. confirming to corresponding I.S. for dado and skirting in required position with readymade adhesive mortar of approved quality on plaster of 1:2 cement mortar including joint filling with white/ colour cement slurry cleaning curing etc. complete.	81.96	Sqm	1069.00	87615.24
9	33.40 Pg. No. 271	Providing and laying vitrified mirror/ glossy finish tiles decorative type having size 590 mm to 605 mm x 590 mm to 605 mm of 8 to 10 mm thickness and confirming to IS. 15622-2006 (group Bla) of approved make, shade and pattern for flooring in required position laid on a bed of 1:4 cement mortar including neat cement float, filling joints, curing and clearing etc. complete. a) Flooring	15.40	Sqm	1039.00	16000.60
10	33.41 Pg. No. 271	Providing and laying vitrified mirror/ glossy finish tiles having size 590 mm to 605 mm x 590 mm to 605 mm of 8 to 10 mm thickness and confirming to IS. 15622-2006 (group Bla) of approved make, shade and pattern for flooring in required position laid on a bed of 1:4 cement mortar including neat cement float, filling joints, curing and clearing etc. complete.b) Skirting	1.38	Sqm	1091.00	1505.58

Sr. No.	Item Reference	Item Description	Qty	Unit	Rate in Rupees	Amount
11	36.11 Pg. No. 285	Providing and applying washable oil-bound distemper of approved colour and shade to old and new surfaces in two coats including scaffolding, preparing the surfaces. (excluding the primer coat.) etc. complete.	136.09	Sqm	35.40	4817.59
12	39.10 Pg. No. 308	Providing and fixing solid core flush door shutter commercial in single leaf 32 mm thick without ventilator commercial type of exterior grade as per detailed drawings with wrought iron hold fast, stainless steel fixtures and fastenings and handles on both sides and finishing with oil painting 3 coats complete.	1.89	Sqm	2144.00	4052.16
13	39.68 Pg. No. 323	Providing and fixing in position powder coated aluminium louvered windows/ ventilator of various sizes with powder coating as per detailed drawing and specifications including aluminium frames 80 x 38 mm x 1.22 mm box type, 5 mm thick sheet glass louvers, of approved quality etc. complete.	5.79	Sqm	2688.00	15563.52
14	41.58 Pg. No. 339	Providing and fixing White Glazed Earthenware Squatting plate (Ladies Urinal) with P.V.C. flushing cistern of 5 liters capacity with fitting, inlet pipes and stop tap, brackets for fixing the cistern, 32 mm dia. P.V.C flush pipe with fittings and flushing arrangement including lead soil pipe, lead trap, soil pipe connection up to the outside face of the wall.	2.00	No	3152.00	6304.00
15	41.65 Pg. No. 340	Providing and fixing white glazed earthenware Wash Hand Basin of 63cm x 45cm size including Bib cock stop tap brass heavy 15mm, brackets, rubber plugs and brass chain, stop tap and necessary pipe connection including P.V.C. waste pipe and trap up to the outside face of the wall.	1.00	No	4462.00	4462.00
16	43.19 Pg. No. 360	Providing and fixing European type white glazed earthenware water closet pan with UPVC seat and lid with chromium plated brass hinges and rubber buffers including UPVC and vent pipe up to the outside face of wall 10 litre enameled low level flushing cistern with fittings pipe stop tap brackets for fixing cistern 32 mm dia. UPVC flush pipe with fittings and clamps, 20 mm dia.UPVC overflow pipe, mosquito proof couplings G.I. chain and pulley, with water Jet and fitting including cutting and making good to the walls and floors testing etc. complete.(prior approval of sample and brand by Ex. Engineer is necessary before use)	1.00	No	8947.00	8947.00

Sr. No.	Item Reference	Item Description	Qty	Unit	Rate in Rupees	Amount
17	41.40 Pg. No. 337	Providing and fixing 15 mm dia. screw down bib/ stop tap of brass including necessary socket union nut complete.	5.00	No	540.00	2700.00
18	48.29 Pg. No. 396	Providing and fixing Hand shower (health faucet) with 8mm dia. Im long flexible tube having wall hook with approved make including necessary sockets/ union nut etc. complete as directed by Engineer in charge.	4.00	No	1643.00	6572.00
19	42.20 Pg. No. 345	Providing and fixing 450mm x 550mm size superior type Belgium mirror with 16mm dia. nickel plated towel rod etc. complete.	2.00	No	655.00	1310.00
20	42.55 Pg. No. 350	Providing and fixing on walls/ ceiling/ floor 15 mm dia. CPVC pipe with necessary fittings, remaking good the demolished portion etc. complete. Including removing existing pipe line if necessary and conveying and stacking the same in PWD chowky or as directed etc. complete.	20.00	Rmt	194.00	3880.00
21	42.57 Pg. No. 351	Providing and fixing on walls/ ceiling/ floor 25 mm dia. CPVC pipe with necessary fittings, remaking good the demolished portion etc. complete. Including removing existing pipe line if necessary and conveying and stacking the same in PWD chowky or as directed etc. complete.	20.00	Rmt	263.00	5260.00
22	42.59 Pg. No. 351	Providing and fixing on walls /ceiling/ floor 40 mm dia. CPVC pipe with necessary fittings, remaking good the demolished portion etc. complete. Including removing existing pipe line if necessary and conveying and stacking the same in PWD chowky or as directed etc. complete.	20.00	Rmt	390.00	7800.00
23	42.27 Pg. No. 346	Providing, laying and fixing P.V.C. pipe of 75mm dia. with fittings such as bends, tees, reducers, clamps, etc. including necessary excavation, trench filling etc. complete. Including removing existing pipe line if necessary and conveying and stacking the same in PWD chowky or as directed etc. complete.	10.00	Rmt	322.00	3220.00
24	42.28 Pg. No. 347	Providing, laying and fixing P.V.C. pipe of 110 mm. dia. with fittings such as bends, tees, reducers, clamps, etc. including necessary excavation, trench filling etc. complete. Including removing existing pipe line if necessary and conveying and stacking the same in PWD chowky or as directed etc. complete.	10.00	Rmt	448.00	4480.00

Sr. No.	Item Reference	Item Description	Qty	Unit	Rate in Rupees	Amount
25	33.22 Pg. No. 268	Providing sills of required material 20mm to 25mm thick, on a bed of cement mortar 1:4 including cement float, filling joints with neat cement slurry, curing, polishing, rounding edges, cleaning complete. b) Granite	2.01	Sģm	3295.00	6622.95
26	NDSR	Providing and fixing in position powder coated aluminum partitions, fully glazed made out of tubular section of size 150 mm x 35 mm and 40 mm x 60mm having thickness 1.1 mm thick with 12 mm thick non toughened of selected quantity plain/float glass panels fixied with aluminium glass clips 12 mm x 12 mm and rubber cushioning beading to glass partitions including floor spring, stainless steel handle, eaching of name of lab in size 3'6"x 6" as per instruction given by incharge etc complete. (cabin including door) As directed by Engineer in charge (Market rate)	3.78	Sqm	3400.00	12852.00
27	38.51 Pg. No. 304	Providing and fixing in position Gypsum board false ceiling with 12.5 mm thick Gypsum boards, screwed/fixed to the under structure of suspended G.I. Grid constructed and suspended from the main ceiling consisting of ceiling sections of size 25 x 50 mm maximum center to center distance of 600 milimetre perimeter channel and intermediate channels at maximum center to center distance 1200 milimetre galvanized grid should be fixed to reinforced cement concrete slab. The gypsum board should be fixed to alvanized iron grid with necessary screws. The boards should be taped and filled rom underside to give smooth, seamless eiling. The rate should include necessary dditional ceiling sections and intermediate channels. Additional intermediate channels should be fixed to strap hangers for additional support to prevent strapping at every 1200 milimetre item to be completed in all respect including necessary sleeves for ducts finishing of joints cut outs, painting including labour, material, lifts etc. all complete.		Sqm	1301.00	7259.58
28	33.36 Pg. No. 270	Providing and fixing machine cut mirror polished 18 mm to 20 mm thick telephone black granite / Amba White / Cat bary brown / RBI red / Ocean Brown granite stone partition with rounding / moulding the edges etc. complete. Both side polish	0.75	Sqm	3410.00	2557.50

Sr. No.	Item Reference	Item Description	Qty	Unit	Rate in Rupees	Amount
29		Repairs of Electrical fittings and wiring with painting of doors, door frames etc. complete.		Lump		5000.00
30		Providing and fixing decorative laminate to main door of toilet.		Lump		2000.00
		TOTAL AMOUNT				2,74,584.32
		SAY				2,74,584.00

Principal

Govt. College of Engineering, Karad.